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Subtraction 
Vocabulary:

subtract

take away

minus

decrease

left (over)

difference

fewer

less than

negative

partition

Subtraction is to take away. 

e.g. 12 - 3 = 9

I can count 3 backwards from 12 and I 
will get to 9.

I can also use the word minus which 
means the same as take away.

12 minus 3 = 9.

You might also see the same symbol 
used in negative numbers e.g. 

-32. 

This means that the number is below 
zero on a number line.

When you find the difference between two 
numbers, this means that you are finding out how 
many numbers there are between them.

For example, the difference between 7 and 11 is 4, 
because you have to count on 4 numbers from 7: 

8 … 9 … 10 … 11 …

You could also count backwards from 11: 

10 … 9 … 8 … 7 … and it would still be counting 
back 4 numbers.

When you decrease a number, it means the 
number gets smaller. 

For example, I could choose the number 17 and 
decrease it by 3. The answer would be 14, as I have 
calculated 17 – 3 = 14.

14 chickens is 3 fewer/less than 17 chickens. 
To partition a number means to split it 
into smaller parts. For example, the 
number 359, can be partitioned into 300 
+ 50 + 9.

3 0 0 5 0 9



https://vimeo.com/425569172




https://www.bbc.co.uk/bitesize/articles/zfdpnrd

https://www.bbc.co.uk/bitesize/articles/zfdpnrd
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